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JNE] A HeEEE EESIEE ARy ki N HE)
JLiR HaEL 5 (] A O HEE| HVAE] SR EE ds A Esl SR (F) [ (&)
BX] 44, 661 108, 975] 53,457] 55,518 64 5 -13 73 86 18] 486] 468 of 134] 134
Hil—TH 667|| 1,453 699 754 —4 -7 -2 0 2 -3 2 5 -2 0 2
AL =T H 527 1,330 662 668 —4 -1 -1 0 1 -1 9 10 1 2 1
FLL=TH 443[ 1,032 505 527 -6 -9 0 0 0 -3 1 4 -6 0 6
Juli&Etl 1,637 3,815 1,866 1,949 -14| -17 -3 0 3 -7 12 19 -7 2 9
gon—-TH 474 1,046 485 561 2 -3 0 0 0 -2 3 5 -1 0 1
R _TH 739 1,901 925 976 1 0 1 1 2 6 4 -1 0 1
S —=1H 512 1,265 630 635 4 10 4 4 0 4 6 2 2 2 0
g RN T H 373 939 462 477 -3 -2 -1 0 1 -2 4 6 1 1 0
Sk H 535 1,254 609 645 3 -1 1 2 4 5 1 0 0 0
sk 81 H 225 517 243 274 1 0 0 0 1 1 0 0 0 0
skt H 619 1,648 818 830 6 1 1 0 5 8 3 0 1 1
s\ T H 383 902 451 451 -1 —4 -1 0 1 -4 0 4 1 1 0
ST H 5871 1,470 726 744 0 -2 0 1 1 2 3 1 —4 0 4
M aaEtl 4,447 10,942]  5,349| 5,593 15 10 2 8 6 10 36 26 -2 5 7
Heker w1 H 313 825 421 404 2 4 1 1 0 5 5 0 -2 0 2
ek R _ 1T H 898l 2,048 1,019 1,029 -5|  -19 -2 2 4 =17 5 22 0 0 0
Hkr w1 H 647 1,493 727 766 0 -9 -3 0 3 -5 1 6 -1 2 3
wie Akl 1,858 4,366] 2,167 2,199 -3 24 —4 3 7N -17 11 28 -3 2 5
Mk a1 H 564/ 1,291 636 655 -1 -3 0 0 0 -2 1 3 -1 0 1
Mk _ 1T H 346 836 444 392 0 —4 -2 0 2 -2 0 2 0 0 0
Mk A =1H 247 553 280 273 2 1 1 1 0 3 3 0 -3 0 3
Mk AT H 502 1,257 638 619 1 -2 0 1 1 -2 2 4 0 0 0
s aasrl 1,659 3,937 1,998| 1,939 2 -8 -1 2 3 -3 6 9 —4 0 4
L gl 333 980 433 547 3 0 0 0 2 7 5 0 0 0
HOEN— T H 154 394 190 204 0 0 0 0 0 0 0 0 0 0
HOER) T H 416 1,008 493 515 2 0 0 0 -2 3 5 7 8 1
HOEEI T H 645 1,653 806 847 -2 -2 -2 2 4 ~4 2 6 4 5 1
HOEESOPY T H 686 1,735 851 884 0 5 2 2 0 4 5 1 -1 1 2
HoEE I ] H 378 941 466 475 -5 —6 -2 0 2 -3 6 9 -1 0 1
HOEEO N T H 396 979 478 501 -1 0 0 0 2 6 4 -3 2 5
HE LT H 627 1,469 705 764 3 0 1 1 0 1 4 3 -2 2 4
HOEEOAEH 3,302 8, 179] 3,989 4, 190 -1 1 -1 5 6 -2 26 28 4 18 14
PasE )| 1,437|| 3,085 1,443| 1,642 0 -9 -3 0 3 -1 4 5 -5 1 6
FHIAR 327 735 369 366 -1 -1 0 0 0 3 6 3 —4 0 4
EEP AR —T 456( 1,021 504 517 2 5 1 2 1 5 10 5 -1 0 1
BRI  T H 206 467 243 224 -1 -3 0 0 0 ~4 2 6 1 1 0
BRI =T 476f 1,172 585 587 2 —4 1 2 1 -6 1 7 1 2 1
EI LY T H 532 1,173 571 602 -6 —4 0 2 2 -8 0 8 4 5 1
EEFI R T H 202 537 265 272 1 -1 0 0 0 -1 3 4 0 0 0
EED R AEE| 1,872 4,370 2,168| 2,202 -2 -7 2 6 4 -14 16 30 5 8 3
EEF AT — T F 640 1,383 653 730 3 9 -1 1 2 3 7 4 7 8 1
EIHIARRT T | 608[| 1,323 618 705 —4 -2 0 2 ~4 0 4 2 2 0
WEEROARTAE 1,248 2,706 1,271 1,435 5 -3 1 4 -1 7 8 9 10 1
HIR 306 890 488 402 -1 —4 -2 0 2 0 0 0 -2 0 2
HHR—TH 632 1,561 789 772 1 2 -1 0 1 -1 3 4 4 4 0
wmdR T A| 1,503 3,733 1,851| 1,882 6 —4 1 3 ol -12 9 21 7 7 0
WHIR=TH 808|l 2,247 1,105 1,142 0 0 2 3 1 —4 6 10 2 2 0
HHRIUT H 447 1,115 534 581 1 5 -1 1 2 8 8 0 -2 4 6
HAREE] 3,390  8,656] 4,279 4,377 8 3 1 7 6 -9 26 35 11 17 6
IR —TH 579 1,440 714 726 -1 -5 0 2 2 5 11 6| -10 3 13
R _-TH 794  2,099] 1,043 1,056 6 17 0 2 2 8 15 7 9 10 1
LR =TH 416 956 502 454 1 3 3 0 0 2 2 -2 0 2
bR EEH 1,789 4,495 2,259| 2,236 6 13 3 7 4 13 28 15 -3 13 16
T RETHT 319 834 397 437 -2 0 2 2 0 -2 0 2 0 0 0

wie| 1,559 5,026 2,318] 2, 708 -3 —4 —4 3 7 6 11 5 -6 0

M E -1 H 7271l 1,835 911 924 2 -1 0 2 2 -2 6 1 1
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HAlE T H 697 1,876 958 918 -3 -11 -1 0 1 -7 1 8 -3 4 7
HAE =T H 582 1,484 735 749 2 0 1 1 0 -2 4 6 1 1 0
FAEMN T B 875l 2,256 1,115 1,141 -1 —4 -1 0 1 2 6 4 -5 4 9
ERIGENNE 564 1,391 682 709 2 -7 -1 2 3 -1 5 6 -5 0 5
FREST H 408 1,061 513 548 2 -3 1 1 0 -5 4 9 1 1 0
MY E S 3,853 9,903 4,914 4,989 4] =26 -1 6 N -15 26 41 -10 11 21
VEPIe R 507 1,175 579 596 5 8 0 0 0 7 10 3 1 1 0
g — T H 314 681 337 344 0 1 0 1 1 0 -1 0 1
hds— T H 576| 1,355 659 696 4 9 1 1 0 0 0 0
A ASENN 890 2,036 996| 1,040 4 10 1 2 1 10 10 -1 0 1
BT H 271 642 329 313 18 19 1 1 0 17 82 65 1 1 0
2 _ T H 598( 1,321 658 663 3 6 0 1 1 6 8 2 0 0 0
=T H 382 993 503 490 -2 -3 0 1 1 -2 2 4 -1 0 1
BhasEr 1,251 2,956 1,490| 1,466 19 22 1 3 2 21 92 71 0 1 1
e -1 H 392 1,063 516 547 2 8 -2 0 2 6 8 2 4 4 0
WHlE __TH 426 1,129 556 573 1 2 0 0 0 3 3 0 -1 0 1
wYE —TH 753l 1,944 971 973 1 —6 -2 1 3 -5 7 12 1 2 1
HHEMLT H 443( 1,066 512 554 0 1 -1 0 1 1 1 0 1 1 0
HWYE T H 750 1,734 857 877 2 1 1 0 2 4 2 0 0 0
WHENTH 212 475 241 234 1 0 0 0 3 4 1 -1 0 1
HEAE] 2,976 7,411] 3,653 3,758 7 10 —4 2 6 10 27 17 4 7 3
<HBXEL—TH 610 1,468 712 756 2 -11 -1 0 1 0 9 9 -10 0 10
<HEIL—TH 685 1,585 780 805 4 3 0 0 0 2 12 10 1 1 0
<HBEL=TH 501l 1,191 598 593 0 2 0 0 0 4 7 —2 0 2
BN T H 476( 1,085 535 550 3 6 0 1 1 6 11 0 0 0
SHELH T H 393 845 476 369 3 13 0 1 1 5 12 8 8 0
<HWEEE 2,665 6,174 3,101 3,073 12 13 -1 2 3 17 51 34 -3 9 12
WIEAR — T H 738l 1,683 827 856 -5| -1l 1 2 i -11 5 16 -1 0 1
HIEARRT T H 426 1,115 557 558 -2 —4 -3 0 3 -2 3 5 1 1 0
VIEART SR 1,164 2,798 1,384| 1,414 -7l -15 -2 2 4 -13 8 21 0 1 1
e 428 854 418 436 0 -3 -2 0 2 0 5 5 -1 2 3
kw1 H 887|l 1,497 675 822 -1 1 1 1 0 1 11 10 -1 1 2
kAT H 353 624 298 326 4 8 3 3 0 6 8 2 -1 0 1
ok A= 1T H 588| 1,626 762 864 -6 -9 2 2 0 -7 2 9 —4 0 4
ek AT H 336 739 357 382 11 23 0 0 0 9 10 1 14 14 0
gk A Ekl 2, 164|  4,486] 2,092| 2,394 8 23 6 6 0 9 31 22 8 15 7
FRIREET 23 63 33 30 0 0 0 0 0 0 0 0 0 0 0
iy 738| 1,855 890 965 3 1 -1 0 1 2 9 7 0 0 0
(R 251 651 309 342 1 5 0 0 0 0 0 0 5 5 0
e — T H 367 999 515 484 3 2 0 1 1 2 3 1 0 0 0
a1 H 301 735 371 364 0 4 -2 0 2 2 5 3 4 4 0
e G 668 1,734 886 848 3 6 -2 1 3 4 8 4 4 4 0
Va1 H 626| 1,403 699 704 -8  -10 2 2 ol -10 2 12 -2 0 2
VEfEEEE] T H 4810 1,230 589 641 1 -1 1 2 1 -2 5 7 0 0 0
vafeE R AEr 1,107 2,633 1,288| 1,345 -7 11 3 4 iy -12 7 19 -2 0 2
i A 271 659 327 332 2 1 0 1 1 -1 5 2 2 0
IR 222 571 303 268 1 0 0 0 1 1 0 0




